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Sally loves softball.  She plays in a league where she has 3 games a week, not to mention 2 
practices a week.  Talk about exhausting!
So far this season, she has played 30 games.  She's been to the plate 100 times.  Of those 
100 times, she's walked 15 times and had 20 hits.
"Hey, Sally," yells Sam.  He is also known as Statistic Sam.  "I'm trying to calculate your 
batting average.  I just need to take the number of hits and divide that by your at bats."
"Go for it," replies Sally.  "Don't forget that walks don't count as at bats!"
"Huh? Oh, yeah, thanks!" replies Sam.  He knows, for example, if she had 5 plate 
appearances with 1 walk and 1 hit, her average would be 1 for 4 or 0.250.  In softball (and 
baseball) they always show an average with 3 decimal points.
What's Sally's batting average?

During the game, Sally went to the plate 5 times.  Wow!  She didn't walk, but she had 2 
singles.  Will her average go up or down after this game?
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Max works as a flymaster for FastFlyer. A flymaster is a driver who uses a flying car to fly people 
wherever they need to go - for a fee of course. When people need rides, they check the 
FastFlyer app. It might say that a ride is $400. Max will pick up and fly the person or people to 
where they need to go. The FastFlyer company gets the first $10 from any ride. Then the 
company takes 30% of what's left. If a ride is $400, they take $10 and 30% of $390. The driver 
keeps what is left. Confusing, huh!
"Don't forget that sometimes people tip. The driver gets the entire tip! It really helps," says Max 
with his famous smile.
Just then Max hears a beep. It's his phone with a ride request. The ride is for $732. Max takes it 
and flies the two passengers.
"Thanks so much and have a great day!" says Max when he drops them off. Then he checks his 
phone. He cannot believe it; they gave him a $50 tip!
How much did Flymaster take for this trip? How much did Max get?

Show your work.
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Sally's family got a new robot. The robot is fantastic. It cleans the house, cooks the meals, and 
even does Sally's homework!
"Does not!" interrupts Sally. "Apparently Mom has disabled that function."
"Don't complain," adds Dad. "That robot cost me over 5 million dollars. Not to mention its 
electricity costs. I have to charge it for 8 hours each night. And during those 8 hours it requires 
15,000 watts of electricity."
Dad was looking at the monthly electricity bill, of course. "I don't get it," says Dad. "What is kWh 
and why is it 40 cents?"
"A kWh," begins Sam (Sam is the robot!), "is a kilowatt hour. That means when you run a 
machine using 1,000 watts for exactly 60 minutes, you have to pay 40 cents."
Dad was even more confused. So how much does it cost to charge Sam each night?

Show your work.  And you are NOT allowed to ask Sam for the answer!
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In 2000, General 
Motors produced 
1,988,851 passenger 
cars, not including 
trucks and SUVs. In 
1994, GM produced 
2,719,764 cars. To the 
nearest thousand, how 
many more cars did 
GM produce in 1994 
than in 2000?

Jack sold the 
vegetables from his 
garden to get enough 
money to buy a 
freezer. The freezer 
costs $361.99. So far he 
has made $269.57 
selling his vegetables. 
How much more does 
he need to be able to 
buy the freezer?

Nathan found the sum 
of the first three even 
numbers and obtained 
a result of 48. Oops. 
What mistake must he 
have made?

7 x (72 ÷ 9) - 20 ÷ 4 = 0.5 x 0.09 If w = -6 and s = 37 then 
what is 11w - 9s - 4s = ?

Peter's little sister could 

throw a basketball about 
1

10
 as far as he could. If 

he could throw a 

basketball 18 meters, how 

far could his sister throw 

one?

A particular pail has a 
capacity of 0.56 kg of 
sand. How many pails 
full of sand would it 
take to make a 
sandcastle containing 
78 kg of sand?

As of 1997, Hoo Sateow 
of Chang Mai, Thailand, 
had the world's longest 
hair. At that time his 
hair was 203 inches 
long. Write the length 
of his hair in feet and 
inches.

0.6 (0.5 (0.6 x 2)) = 
7 x 21 ÷ 3 - 15 ÷ 5 = y = x + 15

y = 21
What is the value of x?
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A litter of dachshunds was recently 
born at Mr. Bloop's house. He was 
interested in how fast dachshund 
puppies grew, so he weighed them all 
shortly after they were born. The 
weights of the puppies (in ounces) 
were: 8.3, 6.6, 8.7, 7.6, 5.8, and 8.6. To 
the nearest tenth of an ounce, what 
was the average weight of the 
puppies?

Hannah wanted to buy a game for 
her little sister's birthday. She went to 
the mall and found the toy store. 
After she looked for a while, she 
decided to buy Candyland. The cost 
of the game was $15.95 plus 7.5% 
sales tax. Hannah paid for the 
Candyland game with a 20-dollar bill. 
How much change did she receive?

11x - 18.5 = 69.5

x = 

What is the greatest 
common factor of the 
numbers 70 and 56?

Circle the least amount:
24%
0.13

8
25

Sarah had $15 for 
lunch each week. If 
she bought the 
standard hot lunch 
each day (for 5 days) 
at $2.53, how much 
money would she have 
left over at the end of 
the week?

Alex threw a football 
as far as he could 3 
times and had an 
average distance of 42 
yards. He threw it 
again and his new 
average was 41 yards. 
How far was his 4th 
throw?

Adam rode his bicycle 3 
1
2

 miles on Saturday and 

3 3
8

 miles on Sunday. On 

Monday he rode several 

more miles for a total of 10 
3
4

 miles on the three 

days. How many miles did 

he ride on Monday?

0.9 (0.8 (0.9 + 5)) = 7
8

 ÷ 2
16

 =
t - 11 + 10 = 16
What is the value of t?
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I am a number between 120 and 160.  Two of my factors are 4 and 48.  The sum of my 

digits is 9.  What number am I?

Anne lives in Zagreb where it is currently Sat. at 6:15 p.m.  She made a phone call to Holly 

who lives in Hong Kong.  It is 1:15 a.m. and Sun. in Hong Kong.  What is the difference in 

time?

Erin is 2 times as old as Jenna.  In 7 years, the sum of their ages will be 35.  How old is Erin?
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17 +53

+8 2
5

- 2
5

- 5
7

+26

+7

-11 -5 1
7

+ 3
5

+35

129 26
35

-9

+ 5
7

-6 3
5 - 6

7 -12

- 6
7

-50-32

+1

+43

- 3
5 62 19

35

A rectangle is 40 cm on 
one side and 6 cm on 
another side.  What is the 
perimeter?

The perimeter of a 
rectangle is 16 cm.  The 
longer side is 5 cm.  How 
long is the shorter side?

What 5 coins add up to 41 
cents?
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Metro Messenger Service delivered one million, fifty-one thousand, six hundred 
seventy-eight messages last year.  Write that number in standard form.

Jack built a cube from foam core board.  On each side of the cube he copied a poem 
written by his favorite Black poet, Maya Angelou.  The sides of the cube were six inches.  
What was the volume of the cube?

Lucas helped his father plant the vegetables in their garden.  They have seven hundred 
eighty-seven seeds.  If they want to plant forty-four seeds per row, how many rows can 
they make?
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6 + 5  9 + 7
40 ÷ 10 + 1

8 x 8 = 8x

What is the value of x?

What is the remainder of 
47 divided by 8? Simplify.

135
189

 = 

(0.2)(0.12)

8,   72,   80,   720,   728,   

6552,  ,    

What is the mode of the 
following number set?

68, 69, 66, 61, 57, 70, 56, 59, 
65, 67, 47, 50, 48, 52

What is the prime 
factorization of 198?

11 + 11 x 3 - 3 + 8
46,  ,   64,  73,  82,  

91,  100,  109,  118

What is the value of z?

4z + 18 - 8z = -5

Simplify.

9,800
44,100

 = 

(7 + 19) + 8 = 2(7 + 10)
0.10  9 = 
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Simplify.

63
81

 = 

0.5 x 0.7 12 + 4 x 7 - (4 - 1)

40,  50,  60,  70,  80,  

,   100,  110,  120,  

130

|-14| + w = 8

w =

What is the remainder of 
123 divided by 18?

A circle graph has five 
sections.  Only four 
sections are labeled.  The 
labels are 13%, 15%, 25%, 
and 27%.  What should the 
missing section be?

A circle graph has five 
sections.  Only four 
sections are labeled.  The 
labels are 41%, 9%, 17%, and 
3%.  What should the 
missing section be?

Crazy David had pizza 26 
days in the month of 
November.  What percent 
of the month did he have 
pizza?

(10 + 8 + 11 + 7) =
14.8801 x 104 =

If p = 6 and v = -39 then 
what is 6p + 11v - 2v = ?

1
11

 x 2
9

2
9

 x 8
9

Rewrite in scientific notation.

75,020,000
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Write your own math problem here.

Ask the person who helped you to try to solve your problem.

I did page 11 I decided to skip this page

PREVIEW
Join edHelper.com for only $19.99 for full access.

https://www.edhelper.com


Name:
edHelper

76 - 11
12

 =
Write the reciprocal.

1
3

Write the reciprocal.

6
9

Reduce 5
25

 to its lowest 

terms.

7  -  4
7

 - 1
6

 = 5  +  3
11

 - 4
5

 =

1
2

 x 6
7

 = 6 4
6

5 3
6+

Change 255
54

 to a mixed 

number.

4 5
8

3
4-

7 6
9

5 1
8-

6 4
5

1
7+
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Make change.  You can use $20, $10, $5, $1, 25¢, 10¢, 5¢,  or 1¢.

Lucas has $80.16.  He has 6 bills and 18 coins.  How?

$20

1¢

Emma has $10.14.  She has 2 bills and 12 coins.  How?

Jacob has $22.61.  He has 3 bills and 5 coins.  How?

8 x 2 =  

How many inches are in 2 feet?

 inches
10 x 5 = 
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Complete each pattern, using the same rule.  Write what the rule is.

D, F, H, J, L, , , R, T

E, G, I, K, , O, Q, S, U, , 

What is the rule for each pattern?

, , 44, 124, 55, 109, 66, 94, 77, 79, 88, 64

61, 19, 54, 17, 47, 15, 40, 13, 33, 11, 26, 

38, 45, 54, 54, , , 86, 72, 102, 81, 118, 90, 134

Complete each pattern, using the same rule.  Write what the rule is.

4, 4, 2, 2, 2, 4, 4, 4, 2, 2, 2, 4, 4, 4, 

4, 2, 2, 2, 4, 4, 4, 4, 4, 2, , , , 
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Mr. Thompson likes to buy vegetables and 
fruit from roadside stands. Yesterday he 
bought 3.2 pounds of apples at $1.25 per 
pound, 1.5 pounds of grapes at $1.51 per 
pound, and 5.3 pounds of red potatoes at 
$0.83 per pound. He paid for his purchases 
with a $50-bill. How much change did he get?

Anna made a calendar to organize her life. 
She used her computer and entered all her 
plans on the appropriate days. She had to 
be careful, though, because the squares 
were so small. Each square was 1.09 inches 
on each side. What was the total area of 31 
squares? Round your answer to the nearest 
hundredth.

Jacob took a big bowl from the kitchen to see what kind of fun party mix he could create.  

He added 5
7

 cup of Goldfish crackers, 2 1
2

 cups of pretzels, and 1
5

 cup of Cheerios.  

How much food is now in the bowl?

If you take the first number and subtract it by the second, the difference is 14.

What are the two numbers?
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
30

is the sum
18 13

22

-23

34
is the sum

-26

22

25

38
is the sum

22

24

18

Example:
18 + 13 + 22 + (-23) = 30

Example:
(-26) + 22 + 24 + 18 = 38

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -23, -26, or -17.
The other three numbers have to all be DIFFERENT and must be from these: 25, 11, 
24, 13, 18, 44, or 22.

2511 13

18

-17

25

either -23 or -17

-23

61
less than 44 less than -23

18

even

49
less than -23

13

18

4325

greater than 11

even

42
greater than 11

even

64
even

even

greater than 11

41
even either -26 or -23

48
even

-17

39
even

-26

even greater than 11

less than 24

even

less than 44

-17
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -17, -47, or -11.
The other three numbers have to all be DIFFERENT and must be from these: 33, 13, 
32, 22, 48, or 26.

8522 -11

26

48

even

22

either 33 or 48

33

34
even greater than 13

-47

33

33
greater than 13 less than 48

-47

even

89
even

greater than 13

40
even even

92
even greater than 22

odd

89
greater than 22 even

even

70
odd even

greater than 13

56
even even

either -11 or -47

either 33 or 26

72
even less than 48

odd

44
less than 48

odd

even

86
less than 32

odd

either -17 or -11

90
either 33 or 26

70
odd even

greater than 13

less than 48

60
even

even

greater than -17

61
less than 48

either -17 or -11

even

55
less than 48 either -17 or -47

either 48 or 13

either -17 or -47

less than 48

less than 26

odd greater than 26

greater than -17

greater than 13
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How many roars are equal to 30 chirps?

30 chirps = 10 moos
1 moo = 2 buzzes

80 buzzes = 100 roars

Sarah was curious about what day will be her teacher's birthday.  Today is Wednesday, 

and it is the 77th day of school.

"My birthday will be celebrated in 45 school days.  There are 5 days each week for school, 

and I counted 5 holidays when we will not have school.  Anyone know on what day of the 

week will be my birthday?" asked Mrs. Clark.

Hannah has 85 cents.  What fraction of a dollar is that?  Be sure to simplify the fraction.
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5 . 0 1
x 0 . 1

100 x 6.7 =
2 . 2 2

x 5 . 5

3 2 9 5 0 ., 3
2 3 6 9 7,
8 2 4 8 2,

+ 4 8 2 1 8,

4 3 2 7 1 7 ., 1 4
8 5 9 7 8 9 ., 2 3

+ 2 2 8 0 7 3 ., 5

Rewrite as a vertical 
equation and solve.
10.28 - 5.99 =

1 6 . 8
- 1 3 . 4

1 7 . 0 9
x 0 . 4

2 2 2 . 1
+ 7 2 . 6

2 . 2 9
x 3 . 9

1 4 . 8
+ 6 . 6 6

18.3 x 100 =

1 4 . 7 4
- 5 . 1 5

Write the decimal number 
for:
five hundred forty-nine 
and thirteen thousandths

1 5 . 9 4
- 3 . 9 6 6
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Use ALL of these digits, including the decimal point.  Cross off a digit after you use it.

8 5 3 . 5 8
Write a number that is closest to 940.

Two numbers are in the ratio 4:7.  The sum of the numbers is 110.  What are the numbers?

Estimate quickly the 
difference.
7,960 - 1,530

1
4096

,  1
512

,  1
64

,  ,    

(1) ,   (8) ,   (64) ,   (512) 

Write the missing family 
fact.
90 ÷ 6 = 15
6 x 15 = 90
15 x 6 = 90
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Let's say you have a molecule that is 
made entirely out of four different 
kinds of subunits called As, Ts, Cs, and 
Gs. In this molecule, the number of Cs 
equals the number of Gs and the 
number of Ts equals the number of As. 
If one of these molecules is analyzed 
and found to consist of 36% As, then 
what percent of the molecule is made 
up of Gs?

Ms. Crump always includes a few 
bonus questions on her tests. If you get 
them wrong, they don't count against 
your score, so you might as well try 
them. However, on the last test she said 
you were only allowed to answer two 
of the five bonus questions offered. 
How many combinations of two 
questions could have been selected 
from the five bonus questions?

Alex is less than 40 miles from 
Smalltown and driving at an average 
speed of sixty-five miles per hour. 
David is less than 30 miles from 
Smalltown coming from the opposite 
direction and driving at an average 
speed of fifty-seven miles per hour. 
They are both on their way to 
Smalltown. If this is the only information 
you are given, is it possible to 
determine which of the two will reach 
Smalltown first?

Justin used the method of Archimedes 
to determine the volume of some twigs 
he was using in an experiment. The 
class was comparing the densities of 
different kinds of wood. He measured 
the volume of 7 twigs and found the 
average volume was 3.3 ml. Before he 
completed the calculations, he 
discarded one measurement because 
he thought the twig was the wrong 
species. After discarding the twig he 
obtained, the new average volume 
was 2.5 ml. What must have been the 
volume of the twig he discarded?

Proteins are made from linear 
sequences of amino acids. How many 
different proteins could be made from 
the amino acids phenylalanine, 
glutamic acid, and lysine?

The Floop family went to a hockey 
game last weekend. They spent $18 on 
food, $25 on souvenirs, and $8 on 
drinks. What fraction of their 
expenditures was spent on drinks?
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The block above is the sum of the two blocks below.  Fill in the missing blocks.

7.2 9 2.4 10.3 6 11.8 14

17.8

478

2 1
4

8 1
4 6 1

8 8 1
4

28 1
8

55 1
2

44,195 + 73,356 =  
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1 6 2 7,
- 3 2 0

3 3 6 6 2 5 5,,
- 4 1 1 7,

8 6 5
+ 4 1

Reduce 6
18

 to its lowest 

terms.

Write the reciprocal.

4
21

11  +  7
8

 - 1
2

 =

4 . 7 1
x 7 . 7

10 x 19.77 = Write the decimal number 
for:
nine hundred twenty-two 
and seventy-seven 
thousandths

Convert to a fraction or 
mixed number and simplify.
              0.4 =
 
0.46 =
 
              0.81 =
 
3.65 =
 
              63.5 =
 
36.8 =
 

10 0 . 0 9 9

Use >, <, or = to complete.

       21.900  21.9

346  345.18

       228  227.5

250.88  253

       4.4  4.34

20.12  20.6

       6.6  6.47
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Fill in each box of the edHelperKu puzzle, using the numbers from 1 to 6.
Every row must contain the numbers 1, 2, 3, 4, 5, and 6.
Every column must contain the numbers 1, 2, 3, 4, 5, and 6.
In a cage with a plus sign, the given number will be the sum of all the digits in the cage.
In a cage with a subtraction sign, the given number will be the difference. The largest number 
will always be the box with the clue.

2

1

6

4-

7+

2-15+

8+

2-

1-

4+

5-3-

2- 16+

7+

10+

7+2

3

Fill in the blanks.  These equations are from the puzzle above.

2 + + = 10 - 1 = 3

+ 4 + = 15 1 + = 7

+ + 1 = 8 6 - = 1

+ 2 = 7 3 + = 7
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Olivia has 6 pounds of a 
mixture containing 41% 
Columbian coffee and the 
rest Kenyan coffee. She 
wants to adjust the blend 
to have 47% Kenyan coffee.
If she can add a mixture, 
which contains 35% 
Kenyan coffee, how much 
should she add?

Rebecca left at 1:50 to visit 
her grandma's house.  She 
arrived at 4:56 after driving 
fifty-two mph. On the way 
home, Rebecca drove 
fifty-eight mph. How long 
will it take Rebecca to drive 
home?

The tens digit of a two-digit 
number is eight less than 
the ones digit. The sum of 
the digits is 10. What is the 
number?

Kyle went to EdHelper 
Outlet to take advantage 
of a huge sale. Shoes were 
on sale for $44.99 per pair 
and socks were only $8.49 
per pair. Jordan and John 
met Kyle at the store.  
Altogether, the three of 
them bought 48 items for 
$772.52.  Kyle bought five 
items less than Jordan. 
John bought twelve items 
less than three times the 
number of pairs bought by 
Kyle.  How many items did 
each person buy?

The length of a rectangle is 
five feet more than its 
width. The area of the 
rectangle is four hundred 
fifty-six square feet. What 
are the dimensions of the 
rectangle?

How much water should be 
added to two liters of pure 
alcohol to make a mixture 
of 25% alcohol?
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If Timothy were 
twenty-four less than four 
times his present age, he 
would be two times as old 
as he was three years ago. 
How old is he?

Kaylee played a few 
games of bowling.  The first 
game she scored one 
hundred less than the third 
game.  The second game 
she scored twenty-two 
more than the first game.  
Her total score for the first 
two games was 232.  If she 
wants an average score of 
150, what must she score 
on the fourth game?

Eric left his house at 3:17 
and drove twenty-six miles 
at forty-three mph to the 
mall. He stayed at the mall 
for 3 hours and 17 minutes. 
He drove home at 
thirty-five mph.  What time 
did he get home?

The sum of two numbers is 
2079.76.  Their difference is 
974.42. What are the 
numbers?

Ethan runs his own pizza 
shop.  For each pizza, it 
costs him $2.25 for 
ingredients, $1.09 for 
overhead, and $0.40 for 
mailing flyers. He charges 
$5.51 per pizza.  As a 
percentage of his costs, 
how much profit does 
Ethan earn for each pizza 
he sells?

Aaron's pennies total $3.14 
less than his dimes, of which 
he has one-fourth as many 
as he has quarters, which 
total $39.14 more than his 
pennies. How many of 
each coin does he have?
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